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316|m fEXT 5 3 |REBTiREEkGEs 57 13.033 10.466 12.266 11.800 47.565

317[iE& i 52 |RETIiIRKERGERS 57 12.333 11.533 11.900 12.300 48.066

1 318|HEIR 4 TH Bl |FVArrE—VISTHE 0.000 11.766 0.000 0.000 11.766

319| &K O& =2 |EEREFRS 77 12.000 11.700 12.133 11.966 47.799

320|h% lFDh 3 (BEEZREFEREIFT *rv

21| ¥T =2 |KRMFE 2 — 11.400 9.133 10.833 10.700 42.066

322 |1k =45 =1 |KRMFE 42— 12.300 9.433 10.800 11.400 43.933

2 323|FIE RE 3 [K.RMFE 22— 13.033 8.166 12.566 11.866 45.631

324|H:E &#F =1l |(BFiEs77 12.966 10.733 12.533 11.566 47.798

325| R 183 =2 | KBRiE®RY 77 12.866 8.766 10.566 10.166 42.364

326 (4L a7y =3 |1EEERs 77 13.200 8.400 10.400 10.766 42.766

327 | ¥rERLE B2 |y SHigss7 11.666 11.100 11.966 12.033 46.765

3 328|{XH £F B2 |y Skigss7 11.233 7.633 10.633 11.666 41.165

329\ A5 BE Bl |BES—-LXFRRI—1 11.500 11.300 10.333 10.433 43.566

330[iESR == 51 [BESA—-LVIERRI—1L 12.700 12.200 11.266 11.566 47.732

331|HFE A =3 (YL 2y FMEREE 13.233 10.800 10.166 10.866 45.065

332|#EM BRE =3 |PYL 2y MEREE 0.000 0.000 10.433 0.000 10.433

4 333[KEF HL =l (YL 2y FMEREE 13.000 8.966 10.700 9.233 41.899

3|RE H =l (PLh 3y MEREE 12.466 9.633 11.133 11.433 44.665

33B|FEHRD F3|PLhL - 2y MEREE *rv
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